Complex Lipid Metabolism
True or False

1. Phosphatidic acid is the simplest phosphoglyceride. (    )

2. Phosphatidic acid is the precursor of other glycerophospholipids. (    )

3. Cardiolipin is an important component of bacterial membranes. (    )

4. Phosphatidalcholine is abundant in heart muscle. (    )

5. Phosphatidalethanolamine is abundant in nerve tissue. (    )

6. Phospholipids are the predominant lipids of cell membranes. (    )

7. In plasmalogens, an unsaturated alkyl group is attached to glycerol by an ester bond. (    )

8. Platelet-activating factor has an acetyl residue at carbon 1 of the glycerol backbone. (    )

9. Glycerol is the backbone of sphinogomyelin. (    )

10. Ceramide has a medium-chain fatty acid attached to the amino group of sphingosine through an amide linkage. (   )
11. Ceramide can serve as a precursor of glycolipids. (    )

12. In sphingomyelin, the alcohol group at carbon 2 of sphingosine is esterfied to phosphorylcholine. (    )

13. All cells can synthesize phospholipids. (    )

14. Cephalin and lecithin are the most abundant phospholipids in the body. (    )

15. The liver can synthesize lecithin from phosphatidylserine.

16. Humans can synthesize sufficient amounts of choline. (    )

17. Nieman-Pick disease is caused by the inability to degrade phosphoglycerides. (    )

18. Sphingomyelin of the myelin sheath contains predominately fatty acids such as lignoceric acid. (    )

MCQs

1. Cephalin is a compound containing:

a) Glycerol + phosphatidic acid (PA).
b) Serine + PA.
c) Choline + PA.
d) Inositol + PA.
e) Ethanolamine + PA.
2. Lecithin is a compound containing:
a) Ethanolamine + PA.

b) Choline + PA.

c) Inositol + PA.

d) Serine + PA.

e) Glycerol + PA.

3. The only antigenic glycerophospholipid in humans is:

a) Cephalin.

b) Plasmalogin.

c) Lecithin.

d) Cardiolipin.

e) Platelet-activating factor.

4. The plasminogen similar in structure to cephalin is:

a) Phosphatidylcholine.

b) Phosphatidylserine.

c) Phosphatidalethanolamine.

d) Phosphatidalcholine.

e) Phosphatidylinositol.

5. An important component if the inner mitochondrial membrane is:

a) Plasmalogen.

b) Platelet-activating factor.

c) Sphingomyelin.

d) Cephalin.

e) Cardiolipin.

6.  Triacylglycerol synthesis occurs in all of the following except:

a) Liver.

b) Erythrocytes.

c) Lactating mammary glands.

d) Adipose tissues.

e) Intestinal mucosal cells.

7. Paroxysmal nocturnal hemoglobinuria results from a deficiency in hemopoietic cells of the enzyme:

a) Dipalmitoylecithin (DPPC).

b) Phosphatidylserine (PS).

c) Phosphatidylinositol (PI).

d) Glycosyl phosphatidylinositol (GPI).

e) Phosphatidylglycerol (PG).

8. Nieman-Pick disease is a deficiency in the enzyme:

a) Phospholipase A1 .

b) Sphingomyelinase.

c) Ceramidase.

d) Phospholipase D.

e) Phospholipase A2.

9. Which of the following contains an ether bond and an unsaturated alkyl group:

a) Platelet-activating factor.

b) Plasalogens.

c) Cephalin.

d) Lecithin.

e) Cardiolipin. 

10. Which of the following contains an ether bond and an acetyl residue rather than a fatty acid on carbon 2:

a) Platelet-activating factor.

b) Plasalogens.

c) Cephalin.

d) Lecithin.

e) Cardiolipin. 

11. The base exchange reaction is used to synthesize:

a) Phosphatidylethanolamine.

b) Phosphatidylcholine.

c) Phosphatidylinositol.

d) Phosphatidylserine.

e) Phosphatidylglycerol.

12. Sphingomyelin of gray matter of the brain primarily contains:

a) Nervonic acid.

b) Stearic acid.

c) Lignoceric acid.

d) Archidonic acid.

e) Linoleic acid.
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